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Conversion
Casting

mapping doesntchangebit

casting

constant integers are signed unless there's a U end
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implicitly

simply copy bit tonewvariable interpretdifferently
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Expanding truncating
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2byte 4byte
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kindabikerightshift

valueofvariable doesn't change

casting keeps bit vector change valve
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Arithmetic

Negativetts 2scomplements cool
havefixedwidthbit might cause overflow

unsigned addition

getridof carry bit similarto truncation

True boundtokbits
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signedaddition

samebit behavior different interpretation
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